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#include <stdlib.h>
#include <cmath>
#include <iostream>

using namespace std ;
int main ()

float a=1.;
float b=-4;
float c=-1;
float d=4;

float x_init=-3.;
float dx_init=10.;
int iter_-max=20;
float threshold=le—6;

float xl=x_init;
float fxl=ax(x*x*x)+bx*(x*x)+c*x+d;

float x2=x+dx-_-init;
float fx2=ax(x2+x2%x2)+bx*(x2xx2)+c*x2+d;

if (fx1*fx2>0.){
cout<<”#_The_signs._of_fxl._and_fx2._are_.indentical.\n”;
exit (0);

if (abs(fx1l)<threshold){

cout<<x1<<”\n”;
exit (0);




}i

if (abs(fx2)<threshold){
cout<<x2<<”\n” ;
exit (0);

)

float x3,fx3;
for (int i=0;i<iter_max;i++){
x3=(x14x2)*0.5;
fx3=a*(x3*%x3%x3)+b*(x3%x3)+c*xx3+d;
if (abs(fx3)<threshold)break;
if (fx*fx3<0.){
x2=x3;
fx2=fx3;
}else{
x1=x3;
fx1=fx3;
}s
}s

cout<<x3<<”\n”;

return 0;
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